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(2)

K (z)
P
5(10)

AN SI
AN S I
50
(4-28)
) (3-32)
:Gp(z) 1
(4-40) (4-41)
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2494
2495
2496
2497
2498
2499
2500
2501
2502
2503

(4-1)

39
53
40
31
55
50
85
60
60
65

2504
2505
2506
2507
2508
2509
2510
2511
2512
2513

35
45
40
30
40
35
30
32
32
38

2514
2515
2516
2517
2518
2519
2520
2521
2522
2523

50
35
40
30
32
40
32
30
32
22

2524
2525
2526
25217
2528
2529
2530

42
43
45
40
44
35
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)

30
50
100

200

70.48

75.85

83.10

90.31

36.33

39.10

42.84

46.56

10.00

(4-2)

27.51
29.60
32.43

35.24

21.63

23.28

25.50

27.72

18.80

** (m/s)

3 4
17.58 13.35
18.92 14.37
20.73 15.74
22.53 17.11
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8.82

9.50

10.40

11.31
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29.60

32.30

33.88

35.00

36.58

37.70

38.57

40.15

41.27

42.14

42.85

23.28

26.53

28.44

29.79

31.69

33.04

34.08

35.99

37.34

38.38

39.24

18.92

22.66

24.85

26.40

28.59

30.14

31.34

33.53

35.08

36.29

37.27

14.37

18.69

21.22

23.02

25.55

27.35

28.74

31.27

33.06

34.46

35.59

9.50

14.25

17.02

18.99

21.77

23.74

25.27

28.05

30.02

31.55

32.80

50

48



(4-4)

10
20
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40
50

60

BSI

60

90

106

115

125

130

60

NBC

42

54

66

76

82

92

ANSI

48

66

79

89

98

104

50

80

120

120

160

160

49



(4-5)
b:H
100
0.50
1:3 2.292

15 2.345

1:7 2.378
b:H
100
0.50
1:3 2.494
1:5 2.554
1:7 2.590

50

0.25

2.415

2.505

2.565

0.25

2.619

2.719

2.785

<«

200

0.25

2.073

2 =250

2.152

200

0.25

2.196

2.250

2.284

(Hz)

0.125

2.205

2.293

2.351

(Hz)

0.125

2.338
2.435

2.499

300

0.125

2.007

2.066

2.104

300

0.125

2.105

2.170

2.212

0.10

2.054

2.126

2.173

0.10

2.156

2.235

2.288

50



(4-6) »

100

1
‘H »
100 200
0.50 0.25 0.25
1:3 2.310 2.455 2.090
1:5 2.366 2.555 2.142
1:7 2.400 2.621 2.175
il »
‘H »
100 200
0.50 0.25 0.25
1:3 2.513 2.662 2.215
1:5 2.576 2.772 2.272
1:7 2.615 2.845 2.309

(Hz)

0.125

2.247

2.344

2.407

(Hz)

0.125

2.383
2.491

2.561

300

0.125

2.032

2.096

2.138

300

0.125

2.132

2.203

2.249

0.10

2.087

2.166

2.218

0.10

2.192

2.280

2.338



‘H=1:3 50

4 H=1:3 U =11 50
(H2)
100 200 300
v
0.50 0.25 0.25 0.125 0.125 0.10
10 17 39 41 35 38 34 35
20 29 66 70 60 64 58 59
30 37 86 90 7 82 75 7
40 44 101 106 91 97 88 90
60 54 124 131 112 119 109 111
80 62 142 150 128 137 124 127
100 69 157 165 142 151 137 140
150 81 168 179 163 166
200 91 188 200 182 186
250 98 197 202
300 105 211 215

G 2.292 2.415 2.073 2.205 2.008 2.054



4 b:H = 1:5 b:d = L1 50
(H2)
100 200 300
v
0.50 0.25 0.25 0.125 0.125 0.10
10 17 40 43 36 39 35 36
20 29 68 73 61 66 60 62
30 37 88 93 79 86 7 79
40 44 103 110 93 101 91 93
60 54 127 135 115 124 112 115
80 62 145 155 131 142 128 132
100 69 160 171 145 157 141 145
150 81 172 186 167 172
200 91 192 208 187 192
250 98 203 209
300 105 217 223

G 2.345 2.505 2.121 2.293 2.066 2.126



b:H = 1.7 50

(Hz)

100 200 300

0.50 0.25 0.25 0.125 0.125 0.10

10 17 41 44 37 40 36 37
20 29 69 74 62 68 61 63
30 37 89 96 80 88 79 81
40 44 104 113 94 103 92 95
60 54 129 139 116 127 114 117
80 62 147 159 133 146 130 135
100 69 163 175 147 161 144 149
150 81 174 190 170 176
200 91 195 213 191 197
250 98 207 214
300 105 221 228

G 2.378 2.565 2.152 2.351 2.104 2.173



(4-10) (o) 0

5 b:H =1:3 b:d =1:1 50
< (Hz)
100 200 300
S
0.50 0.25 0.25 0.125 0.125 0.10
10 7 19 20 16 17 16 16
20 17 42 44 37 39 35 36
30 24 60 63 53 56 51 52
40 30 75 78 66 70 63 64
60 39 98 103 86 92 83 85
80 47 116 122 103 109 98 101
100 53 132 139 116 124 111 114
150 65 143 152 137 140
200 75 164 174 157 161
250 82 174 178
300 89 188 192

G 2.494 2.619 2.196 2.338 2.105 2.156



(4-11) ()

5 b:H =15 b:d = 1:1 50
?ra (Hz)
100 200 300
V4
0.50 0.25 0.25 0.125 0.125 0.10
10 7 19 20 17 18 16 17
20 17 43 46 38 41 36 38
30 24 61 65 54 58 52 54
40 30 76 81 67 73 65 67
60 39 100 107 88 96 85 88
80 47 119 127 105 114 101 104
100 53 135 144 119 129 115 118
150 65 147 159 141 146
200 75 168 182 162 167
250 82 179 184
300 89 193 199

G 2.554 2.719 2.250 2.435 2.170 2.235
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(4-12) 'a a ! ( J ..)a tu
h:H = 1:7 50
5 b:H = 1:7 b:d = L:1 50
(Hz)
100 200 300
V4
0.50 0.25 0.25 0.125 0.125
7 19 21 17 19 17
17 44 47 38 42 37
24 62 67 55 60 53
30 77 83 68 75 66
39 102 109 90 98 87
a7 121 130 107 117 103
53 137 147 121 132 117
65 149 163 144
75 170 187 165
82 182
89 197
G 2.590 2.785 2.284 2.499 2.212

0.10

17

38

55

68

90

107

121

149

171

189

204

2.288

57
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10
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80
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(4-13)

21

35

45

53

65

74

82

97

109

118

126

%

100

0.50

47

80

103

122

150

172

190

2.310

0.25

50

85

110

129

159

182

202

2.455

100

200

0.25

43

73

94

110

136

155

172

203

227

2.090

(Hz2)

0.125

46

78

101

118

146

167

184

218

244

2.247

%

300

0.125

42

71

91

107

132

151

167

197

221

240

256

2.032

100

2*x

0.10

43

72

93

110

135

155

171

203

227

246

263

2.087
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(4-14) a (o)

b:H = 1.5 100

4 b:H = 1:5 b:d =1:1 100

(Hz) ! a

100 200 300

0.50 0.25 0.25 0.125 0.125

21 49 52 44 48 43
35 82 89 74 81 73
45 106 114 96 105 94
53 125 135 113 123 110
65 154 166 139 152 136
74 176 190 159 174 156
82 194 210 176 192 172
97 208 228 204
109 233 255 228
118 247
126 264

G 2.366 2.555 2.142 2.344 2.096 2.167

0.10

44

75

97

114

141

161

178

210

235

256

273

59



10

20

30

40

60

80

100

150

200

250

300

(4-15) (1 -) |
biH = 17 100
4 b:H =17 b:d =11 100
(Hz)
100 200 300
V4
0.50 0.25 0.25 0.125 0.125 0.10
21 49 54 45 49 44 46
35 83 91 76 84 74 77
45 107 117 97 108 96 99
53 126 138 115 127 113 117
65 156 170 141 156 139 144
74 178 195 162 179 159 165
82 197 215 179 198 176 182
97 211 234 208 216
109 236 262 232 241
118 252 262
126 269 279
G 2.400 2.621 2.175 2.407 2.138 2.218

60



(4-16) () "
bH =13 100

5 ‘H=1:3 :d = L:I 100
. 3 (Hz)
100 200 300
v
0.50 0.25 0.25 0.125 0.125 0.10
10 9 23 24 20 21 19 20
20 20 51 54 45 48 43 44
30 29 72 e 64 69 61 63
40 36 90 95 79 85 76 79
60 47 118 125 104 112 100 103
80 56 141 149 124 134 119 123
100 63 160 169 141 151 135 139
150 78 173 186 167 171
200 90 198 213 191 196
250 99 211 217
300 107 228 234

G 2.513 2.662 2.215 2.383 2.132 2.192
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(4-17)

b:H

20
29
36
47
56
63
78
90
99

107

1:5

100

0.50

23
52
74
92
121
144

163

2.576

=15

0.25

25

56

80

99

131

155

176

2.772

100 3

200

0.25

20
46
65
81
107
127
144
178

204

2.272

1:1

(Hz2)

0.125

22
50
72
89
117
140
158
195

223

2.491

300

0.125

20

44

63

79

104

123

140

172

197

218

235

2.203

100

0.10

20

46

66

82

107

128

145

178

204

225

244

2.280

62



(4-18) (N (
h:H = 1.7 100

5 b:H = 1:7 b:d = L:I 100
« I( (H2)
100 200 300
V4
0.50 0.25 0.25 0.125 0.125 0.10
10 9 23 26 21 23 20 21
20 20 53 57 47 52 45 47
30 29 75 82 66 74 65 67
40 36 94 102 83 92 81 84
60 47 123 134 109 121 106 110
80 56 146 159 129 144 126 131
100 63 166 181 147 163 143 148
150 78 181 200 176 183
200 90 207 229 201 209
250 99 223 231
300 107 240 250

G 2.615 2.845 2.309 2.561 2.249 2.338



(4-19)

)

50

100

100

28.74

31.48

9.5

53

63

20.0

33.06

36.62

9.6

200

70

84

20.0

)
300
P
35.59 81
38.99 97
9.6 20.0

64



(4-20)
BSK2) 1
NBC(3) -
ANSI(4) D

ASCE(21) 1

65



(4-21) C 7 )

«fcrmrw ' 3 4

50 50 50 50

10 69 60 48 42
20 101 90 70 61
30 118 106 90 78
40 128 115 108 99
60 141 130 130 120
80 152 141 143 133
100 157 149 152 143
150 173 163 169 160
200 183 174 183 174
250 193 184 195 186
300 200 192 203 195

> (Topography Factor) = 1

(Statistical Factor) =1
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(4-22)

21
27
33
38
46
54
60
73
85
95

104

67

13

« ./

{ B

B H=1:3 d =

100 200
0.50 0.25 0.25
42 a7 38
53 59 48
64 72 59
74 83 68
91 101 83
105 117 96
118 131 107
131
151

1.959 2.182 1.782

30 :H
30
(Hz)
300

.125 0.125
46 40
58 50
71 61
82 71
101 87
117 100
130 112
160 137
184 158
177
194
2.174 1.868

0.10

44

55

67

78

95

110

123

151

174

194

213

2.048
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(4-23)

21
27
33
38
46
54
60
73
85
95

104

2( B b:H

100

0.50

44

55

67

78

e15

110

123

2.044

= 1:5

0.25

50

62

76

88

108

125

139

2.321

200

0.25

40

50

62

71

87

101

112

138

159

1.873

30 b:H

30

(Hz)

300

125 0.125

50 43
62 54
76 66
88 76
108 93
125 108
139 121
171 148
197 171

191

209

2.321 2.010

68

=15

0.10

47

59

72

83

102

117

131

161

186

208

227

2.188
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(4-24) w

21
27
33
38
46
54
60
73
85
95

104

¢

100

0.50

45
57
70
80
98
114

127

2.116

= 1:7

0.25

55

69

84

97

119

138

154

2.566

200

0.25

42

53

65

75

91

105

118

144

167

1.965

30 b:H

30

(H2)

300

125 0.125

52 45

66 57

81 69

93 80

114 98
131 113
147 127
180 155
208 179
200

219

2.449 2.108

69

= 1:7

0.10

49

62

76

87

107

123

138

169

195

218

239

2.300
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80
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(4-25)

2%3IT

17
17
17
21
28
35
41
55
67
79

90

am « /7 2.

~ 2 c

c ‘H=1:3 d =
29

100 2 200
0.50 0.25 0.25
40 45 34
40 45 34
40 45 34
49 55 42
65 74 56
80 01 69
94 107 81
109
134

2.314 2.620 1.995

(H2)

0.125

42

42

42

51

69

84

99

133

163

2.432

30

b:H

30

?

300

0.125

36

36

36

44

59

72

85

114

140

164

187

2.084

70

= 1:3

0.10

38

38

38

47

63

78

o1

122

150

176

201

2.238
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(4-26)

17

17

17

21

28

35

41

55

67

79

90

100

0.50

42

42

42

51

68

84

99

2.427

2

1:5

0.25

48

48

48

59

79

97

114

794

200

0.25

36

36

36

44

59

72

85

114

140

2.087

11

30 H = 1:5
1 30
(Hz)
300

0.125 0.125 0.10
45 38 42
45 38 42
45 38 42
55 47 51
74 63 69
91 77 85
107 91 99
144 122 133
177 150 164
176 192
201 219

2.633 2.234 2.440
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(4-27)

17

17

17

21

28

35

41

55

67

79

90

100

0.50

42

42

42

52

70

86

101

2.484

b:H

<«

1:7

0.25

49

49

49

60

81

99

117

2.869

b:d

200

0.25

37

37

37

45

61

75

85

117

144

2.149

(Hz)

0.125

46

46

46

57

76

94

110

147

181

2.703

30

300

0.125

39

39

39

48

65

80

94

125

154

181

207

2.302

72

=17

0.10

43

43

43

53

71

87

102

137

168

197

225

2.508
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(4-28)

38

52

62

70

84

96

106

126

144

159

172

100

0.50

43

59

70

80

95

108

120

1.133

« ./ ) » ANSI
B 50 b:H=13
= 1:3 b:d = LSI 50
(Hz)
200 300

0.25 0.25 0.125 0.125 0.10
45 40 46 41 44
62 54 62 56 60
74 65 75 67 72
84 73 85 77 82
100 88 102 92 98
114 100 116 104 112
126 110 128 115 123
132 153 138 148
150 174 157 168
173 186
188 201
1.194 1.045 1.208 1.091 1.169

73



(4-29) « /7 . ) ANSI

? B 50 b:H = 1:5
B b:H = 1:5 b:d =L1 50
(Hz)
100 200 300
v
0.50 0.25 0.25 0.125 0.125 0.10
10 38 44 49 41 48 43 47
20 52 60 66 56 66 59 63
30 62 72 79 67 79 71 76
40 70 82 90 76 89 80 86
60 84 98 108 91 107 96 103
80 96 112 123 103 121 110 117
100 106 123 135 114 134 121 130
150 126 136 161 145 155
200 144 155 182 165 176
250 159 182 195
300 172 197 211

G 1.168 1.282 1.079 1.269 1.145 1.227
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(4-30)

38

52

62

70

84

96

106

126

144

159

172

100

0.50

45

62

74

84

100

114

126

1.192

= 1:7

0.25

51

69

82

94

112

127

141

1.331

200

0.25

42

57

68

7

93

105

116

139

158

1.101

50

(Hz2)

0.125

49

67

81

92

110

125

137

165

187

1.302

300

0.125

45

61

73

83

99

113

125

149

170

187

203

1.179

ANSI

0.10

48

65

78

89

106

120

133

159

181

200

217

1.259

15



76

(4-31) « 7 ) ANSI
| A 50 b:H =1:3
1 A b:H =1:3 b:d = L:l 50
« . (Hz)
100 200 300
V4

0.50 0.25 0.25 0.125 0.125 0.10
10 15 18 19 16 19 16 17
20 23 28 31 25 29 26 27
30 31 37 41 33 39 34 36
40 37 44 49 40 47 41 43
60 49 58 64 53 61 54 57
80 59 70 78 64 74 65 69
100 68 82 90 74 86 76 80
150 89 97 113 99 105
200 108 118 136 120 127
250 126 140 147
300 142 158 166

G 1.198 1.325 1.089 1.260 1.110 1.171



(4-32) « /7 . ) ANSI

' A 50 b:H = 1:5
A b:H = 1:5 b:d = L:I 50
(Hz2)
100 200 300
V4
0.50 0.25 0.25 0.125 0.125 0.10
10 15 18 20 16 19 17 18
20 23 28 32 26 31 27 29
30 31 37 42 34 40 35 38
40 37 45 51 41 49 42 45
60 49 59 67 54 64 56 60
80 59 71 81 66 77 67 72
100 68 83 95 76 20 78 84
150 89 100 118 102 110
200 108 121 143 124 133
250 126 144 154
300 142 163 174

G 1.214 1.386 1.117 1.318 1.146 1.228
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(4-33)

15

23

31

37

49

59

68

89

108

126

142

100

0.50

18

29

38

46

60

72

84

1.229

0.25

21

33

43

52

68

83

96

1.408

200

0.25

17

27

35

42

55

67

78

102

123

1.139

50

(Hz2)

0.125

20
32
41
50
66
80
92
121

147

1.355

ANSI
H=1:7
50
300
0.125 0.10
17 19
27 29
36 39
44 47
57 61
69 74
80 86
105 113
127 137
148 159
167 179
1.175 1.262

78



(4-34) ?(
?& ' «l ( 4
<«
<«
100
0.50 0.25
BSK?2) 149 149
NBC(3) 118 131
ANSI(4) 120 126
ASCE(21) 157 165
(
<«
100
0.50 0.25
BSI(2) -5.1 -9.7
NBC(3) -24.8 -20.6

ANSI(4) -23.6

-23.6
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